




VERDIGRIS



There are two scores of books (a) / which are lying 
(b) / unused in the library (c) / No error (d)

Ans :- “ SCORE “ in place of “ SCORES”



Children are prone (a) / to making mischief (b) 
/ if they have nothing to do (c) / No error (e)

ANS :- “MISCHIEVES” in place of 
“MISCHIEF” 



Sheeps are economically useful (a) / and so they 
are reared (b) / in the hills (c) / No error (e)

ANS :- “SHEEP” in place of 
“sheeps” 



I have not gone through (a) / the letter and so I am not 
aware (b) / of its content (c) / No error (d)

Ans :- “CONTENT” in place of “CONTENTS” 



I shall not attend the meeting (a) / since I have 
many works to complete (b) / within allotted time 
(c) / No error (d)

ANS :- “MUCH WORK “  In place of 
“MANY WORKS” 



You should always be (a) / true to your words (b) / if 
you are to succeed in life (c) / No error (d)

ANS :- “WORD” in place of “WORDS” 



It is a pity (a) / that even five years old boys (b) / 
are engaged in hazardous factories (c) / No error (d)

ANS :- “YEAR” in place of “years’ 



I gave him (a) / two hundred rupees notes 
(b) / for depositing (c) / No error (d

Ans ;- “RUPEE” in place of 
“rupees” 



The table’s wood (a) / is infested with mite (b) / 
and I am likely to dispose it off (c) / No error (d)

Ans :- wood of the table  in place of 
table’s wood 



To morale of the army (a) / was high because the 
news (b) / coming from the front are very 
encouraging (c) / No error (d)

Ans :- replace “ are” by  “ is” 



I can’t come to you now (a) / because a lot of 
works (b) / remains to be done (c) / No error (d)

Ans : - “ work” in place of “ works” 



A farmer was leading oxes (a) / to his field for 
ploughing (b) / early in the morning (c) / No error (d)

Ans :- use “ oxen “ 



I don’t think (a) / it is your house (b) / It is somebody’s 
else (c) / No error (d)

Ans :- somebody else’s 



There is a death of woman doctor (A)/ in our 
state. We shall have to (B) recruit from the 
other states.(C)/ No Error (D)

Ans :- use “ WOMEN DOCTORS” 



The angry mob attacked (A)/ the police officers (B)/ 
when they came to raze the illegal construction (C)/ No 
error (D) 

ANS :- angry and mob are not 
used together 



The low learn level is due to the fact that the state 

spends 87% of its budget on salaries of its teachers 

and not on infrastructure development for students.

Ans :- low learning level .




